.Jl.ovato

_ electric

LOVATO ELECTRIC S.P.A.

24020 GORLE (BERGAMO) ITALIA
VIA DON E. MAZZA, 12

TEL. 035 4282111

FAX (Nazionale): 035 4282200

FAX (International): +39 035 4282400

1528 |[GBDFE 0817

E-mail info@LovatoElectric.com
Web www.LovatoElectric.com
WARNING!

This equipment is to be installed by qualified personnel, complying to current standards, to avoid &

«damages or safety hazards.

The manufacturer cannot be held responsible for electrical safety in case of improper use of the equipment.

- Products illustrated herein are subject to alteration and changes without prior notice. Technical data and descriptions in
the documentation are accurate, to the best of our knowledge, but no liabilities for errors, omissions or contingencies
arising there from are accepted.

ATTENZIONE!

BLOCCHI AGGIUNTIVI E ACCESSORI PER SERIE GM

GB ADD-ON BLOCKS AND ACCESSORIES FOR GM SERIES
‘D) ANAUBLOCKE UND ZUBERHOR FUR SERIE GM

(F) BLOCKS ADDITIIS EL ACCESSORIES POUR SERIE GM

(E) BLOQUES ADICIONALES Y ACCESSORIOS PARA SERIE GM

GMX61NFPA, GMX3..., GMXCL...

Questi apparecchi devono essere installati da personale qualificato, nel rispetto delle vigenti normative

impiantistiche, allo scopo di evitare danni a persone o cose. A

ATTENTION !

Ces appareils doivent étre installés par un personnel qualifié, conformément aux normes en vigueur en

matiére d'installations, afin d'éviter de causer des dommages  des personnes ou choses.

Le constructeur n'assume aucune responsabilité quant a la sécurité électrique en cas d'utilisation impropre du

dispositif.

- Les produits décrits dans ce document sont susceptibles d'évoluer ou de subir des modifications & n'importe quel
moment. Les descriptions et caractéristiques techniques du catalogue ne peuvent donc avoir aucune valeur

>

UWAGA!

Il costruttore non si assume responsabilita in merito alla sicurezza elettrica in caso di utilizzo improprio del dispositivo.
| prodotti descritti in questo documento sono suscettibili in qualsiasi momento di evoluzioni o di modifiche. Le
descrizioni ed i dati a catalogo non possono pertanto avere alcun valore contrattuale.

W celu unikniecia obrazert os6b lub uszkodzenia mienia tego typu urzadzenia musza by instalowane przez A
wykwalifikowany personel, zgodnie z obowiazujacymi przepisami,

Producent nie przyjmuje na siebie odpowiedzialnosci za bezpieczeitstwo elekiryczne w przypadku niewlasciwego uzytkowania
urzadzenia,

Produkly opisane w niiejszym dokumencie moga byt w kazdej il udoskonalone lub zmodyfkowane. Opisy oraz dane
Katalogowe nie moga miec w Zwiazku 2 tym zadnej wariosci umovne]

ACHTUNG!

~ Zur Vermeidung von Personen- und Sachschaden diirfen diese Gerate nur von qualifiziertem
Fachpersonal und unter Befolgung der einschidgigen Vorschriften installiert werden.

~ Bei zweckwidrigem Gebrauch der Vorrichtung dbernimmt der Hersteller keine Haftung fir die elektrische Sicherheit.

Die in dieser Broschiire beschriebenen Produkte kdnnen jederzeit weiterentwickelt und geandert werden. Die im Katalog

enthaltenen Beschreibungen und Daten sind daher unverbindlich und ohne Gewabr.

%

BE

AigERERAHARBRATHERTRE UBSERRFRZLBE,
HEFTARREZEATUSBMNBIRLAE,

ADVERTENCIA

- Este dispositivo debe ser instalado por personal cualificado conforme a la normativa de instalacién

vigente a fin de evitar dafios personales o materiales.

El fabricante no se responsabilizara de la seguridad eléctrica en caso de que el dispositivo no se utilice de forma

adecuada.

- Los productos descritos en este documento se pueden actualizar o modificar en cualquier momento. Por consiguiente,
las descripciones y los datos técnicos aqui contenidos no tienen valor contractual.

>

NPEAYNPEXAEHME!

Bo waeXaHe TDBM AW MATEDHATIBHOTO YLLIEpBa MOHTAK LOMXEH CylLIECTBATLCA TONbKO KERMAULYPOBAHHbIM
NEPCOHANOM B COOTBETCTBMH C AEICTBYIOLIUMMI HOMATHEANH.
Il He HeceT

HALRBN - RATRLEEE, ATRIEM, RIBHWRARE P EARKIERN G AR,
B Cnysae
yerpojicTea

EBX F#IR, BRR A ENEASHRET AR,
Vagems, OnACaHHsle B HACTOSULEM AOKYMENTE, B OGO MOMEHT NOTYT TORBEPTHYTCH HaNEHEHHAM W

UPOZORNENI

Tato zafizeni smi instalovat kvalfikovani pracovnici v souladu s platnjimi piedpisy a nommani pro predchzeni
razii 050D Gi poskozen vici.

Virobce nenese odpovédnost za elekirckou bezpeénost v pripadé nevhodného pouivni reguidtoru

Vyrobky popsané v tomto dokumentu mohou kdykoli pojit Gpravarmi G dalSim vjvolem. Popisy a Udaje uvedené v katalogu nemi
proto zdnou smiuvni hodnotu

>

DIKKAT!

JCOBELIEHCTB0BH/M. T103TOMY KATANOKHSIE 2HHSIE i OTHCHIS HE MOTYT PACCMATDHATHCS KaK ATCTBHTEsHie C TO4KH
3peHUA KOHTPaKTOB

Bu aparatar kisiere veya nesnelere zarar veme ihtimaiine kars1 yiiriikte olan sistem kurma nomilarina gore A
Kalife personel tarafindan monte ediimeldirer

Urelici aparatin hatalr kullanimindan kaynaklanan elektrksel givenige ait sorumluluk kabul etmez.

Bu dokimanda tarf edilen Grinler her an evrimlere veya degisimlere agikr. Bu sebeple katalogdakiarif ve deGerler herhangi bir
bagayici deferi haiz degil

AVERTIZAREI
Acest echipament va fi instalat de personal calificat, in conformitate cu standardele actuale, pentru a evita
deleriorari sau pericolele
- Producitorul nu poate i considerat responsabil pentru siguranta electrica n caz de utiizare incorects a echipamentului,
Produsele ilustrate in prezentul sunt supuse modificérilor si schimbérilor fara notificare anterioaré. Datele tehnice si descrierile din
documentatie sunt precise, in méisura cunogtintelor noastre, dar nu se accepta nicio raspundere pentru erorile, omiterile sau
evenimentele neprevazue care apar ca urmare a aceslora

>

____electric



Installation and Operating Instructions
Flange Operated Disconnect Switches

30-200 A fused GMF series switches

These instructions cover the installation and
adjustment of flange handle operated disconnect
switches.

Handles and mechanisms are UL Recognized,
disconnect switches are UL Listed.
UL file #E101914.

Overview of Function

The disconnect switch is operated ON and OFF by
means of an enclosure mounted flange handle.

A flexible push-pull cable connects the handle to
the switch, transfering the vertical motion of the
handle to the rotary motion required to operate the
switch.

Features

¢ Padlockable in OFF position

® Provides door interlock in ON position
* Meets NFPA79 requirements

o)

[OIO]

Warning:

This equipment should be installed only by qualified
personnel in accordance with accepted safety
practices.

The following components are required for a
complete flange operated switch assembly:

1. Flange Mechanism Kit GMX3_

2. Flange Handle GMX61NFPA
3. Flexible Cable GMXCL_

4. Disconnect Switch GMF_

5. Switch Lug Kit (optional)

1. Flange Mechanism Kits

* GMX30 for use with GMFJ030C12, GMFC030C12

® GMX31 for use with GMFJ060C12

* GMX32 for use with GMFJ060C03, GMFJ100C03,
GMFJ200C03

2. Flange Handles
GMX61NFPA UL Type 1, 3R, 4, 4X & 12

3. Flexible Cable (length)
e GMXCL36
e GMXCL48
e GMXCL60
e GMXCL72

4. Disconnect Switches
3 pole, fused

e GMFJ030C12
e GMFC030C12
e GMFJ060C12
e GMFJ060C03
e GMFJ100C03
e GMFJ200C03

30A class J fuse
30A class CC fuse
60A class J fuse
60A class J fuse
100A class J fuse
200A class J fuse

5. Switch Terminal Lug Kits

* GMFJ200C03 switches require optional terminal
lug kits, p/n: GMX501.

e All other switches have integral lugs.

Required tools for installation:

e #2 Phillips head screwdriver

® 3/16” Allen hex wrench

® (2) 5/16” open end wrenches

® (2) 11/16” open end wrenches

e Standard socket wrench set

® 7/16” socket

 Pliers

® Drill and tap for 1/4-20 hardware

____electric



Flexible Cable

t 4O

HH

(bagged hardware)

Cable Length

Flexible Cables

Cables are furnished with the

components illustrated:

1. Cable

2. Cable Housing Nuts / Washers

3. (4) #10-32 hex nuts (installed
on cable ends)

. Cable Bearing

. “E” retaining ring (for item 4)

. Cable Clamp

. Cable Clamp Shim Plate

. Cable Clamp hardware
- (2) “10 32x3/8 Pan hd schew
- (2) #10 lock washer

0 ~NO oA

ugu

||-I-ITIH|TI|-EH|

(]

____electric

Flange Handle

(bagged hardware)

Flange Handle
Handles are furnished partially assembled with the
compontens illustrated:
1. Flange Handle
2. Handle Bracket
3. Door gasket (not shown)
4. Mounting hardware
- (2) 1/4-20x3/4” socket hd gap screw
- (2) 1/4” split lockwasher
- (2) 1/4” flat washer

Additional components and hardware provided in
separate plastic bag:

5. Door Hook Interlock Lever

6. “E” Retaining Ring

7. (3) #8-32x3/8” Phillips hd screw

8. (3) #8 lockwasher

9. Door Hook Weld Bracket

10. Door Hook, Short

11. Door Hook, Long

ltems 9, 10 and 11 may not be needed if the
enclosure used is already equipped with a door
hook or hook mounting bracket.

Item 9 intended to be spot welded to the rear
surface of the enclosure door and serve as a
mounting base for the door hook.



Flange Handle Assembly

Tool required: 3/16" allen hex wrench
Torque: 72 Ib.in.

1/4-20X3/4" socket hd cap screw
1/4" split lockwasher, 1/4" flatwasher

&

E Retaining Ring

Install cable bearing in outer
hole for GMX31 & GMX32

Use inner hole for GMX30

Door Hook
Interlock Lever

Cable Clamp

Cable Clamp
Shim Plate

[°]
/ Door Hook
= Interlock Lever

Full ON
position

\>/

Full OFF position
(padlockable)

4.

N

2_17
\'_

0.28
9 6{
& +

Standard Alternate
cut-out cut-out
[ & |
| Cable Bearing —\ / |
Cable end

-——
L _

Handle will sag ~20-30°
in the ON position.
This is normal.

==t

)) $ <l

Door Hook
Interlock Lever

T
)
B —

Switch will turn OFF
~20° before coming
to rest in the full
OFF position

0

____electric



Flange Handle Door Interlock

The flange handle is equipped with a door interlock
feature, preventing the enclosure door from being
opened if the handle is not in the full OFF

position. Also, the handle includes an interlock
defeat mechaism, allowing access to the enclusure
with the use of a tool when the handle is in the ON
position.

During installation, the proper function of the door
interlock feature must be adjusted and verified.
This is achieved by aligment of the door hook with
the interlock lever and may require adjustment of
the position of the hook and/or slight bending of
the interlock lever.

The specific enlosure used may already be
equipped with the door hook.

Operation

The HANDLE INTERLOCK LEVER rises when the
handle is moved away from the full OFF position,
engaging the DOOR HOOK and preventing the
door from being opened.

The DOOR HOOKS (long and short) are included
with the handle, along with a HOOK MOUNTING
BRACKET, in the event that the actual enclosure
used does not include a door hook. The mounting
bracket is designed to be spot welded to the inside
surface of the door, but may be drilled and screwed
to the door if desired.

A. Interlock bar movies downward when the handle
is moved to the full OFF position, disengaging

the door hook and allowing the door to be freely
opened.

B. If the handle is raised, the interlock bar moves
upwards and engages the door hook. The enclo-
sure door is now interlocked to the handle and
cannot be opened.

C. The interlock defeat mechanism can be ope-
rated using a tool (flat blade screwdriver) to release
the door hook and allow the door to be opened,
even if the handle is ON.

____electric

Interlock
Lever v

Handle in full OFF position
Hook released
Door may be freely opened

Door Hook

Interlock
Lever

Handle not in full OFF position
Hook engaged
Door is interlocked with handle

Interlock bar

Door hook
weld brkt

Door

Door hook

\

Enclosure
Flange

Top view (looking down from above)

Door hook

Door hook |
weld brkt \

Bl

Front view

1.75

I
2.75

i

Door hook
weld brkt

pH}

o (O CDOo——-

Front view DOOR HOOK BRACKET location




GMX30
Flange Operated Switch Mechanism Kit
for use witch switches GMFJ030C12 & GMFC030C12

GMFJ030C12
(W—,GMFC030C12

Install cable bearing in

U‘] inner mounting hole

\

%)

T—@

@/

H
|I|I 00}

%/
@\e

©
({,‘\‘

Assembly Procedure

Before installing switch, install handle and cable
together in the enclosure flange cut-out. See pages
4 & 5 of this document for assembly and instal-
lation instructions. Place handle in full OFF posi-
tion before proceeding with switch installation.

=

1. Install GMFJ030C12 or GMFC030C12 switch
on GMX30 BASE PLATE (A) using the included
hardware.

2. Install the OPERATING LEVER (8) into the
switch rotary mechanism from underneath the
BASE PLATE. Fully insert the operating lever and
orient as shown above. Tightening the two set
screws at the top of the switch using a small flat
blade screwdriver to retain the OPERATING LEVER.
Torque: 9 Ib.in.

3. Install the free end of the cable into the PIVOT
POST (C) and install the cable housing into the
open slut on the BASE PLATE, tighten the two lock
nuts on the cable housing. Note: the two lock nuts
should be centered on the threaded portion of the
cable housing to allow for later adjustment.

Switch in
OFF position

Locknuts centered on threaded
portion of cable housing.
Use two 11/16" open end wrenches.

4. Install the cable hardware as shown above and
tighen onto the PIVOT POST. Make certain that
both the flange handle and the switch are in the full
OFF position.

5. Operate the switch ON and OFF several times.
If adjustment is required, loosen the two lock nuts
on the cable housing and adjust their positions to
alter the cable travel. Use two 11/16” open end
wrences to adjust and tighten the lock nuts.

1/4" hrdwr

electric



GMX31
Flange Operated Switch Mechanism Kit
for use witch switches GMFJ060C12

GMFJ060C12
®—

@

@\\EI

Note 6 ——
#10 hex nut

Assembly Procedure

Before installing switch, install handle and cable
together in the enclosure flange cut-out. See pages
4 & 5 of this document for assembly and instal-
lation instructions. Place handle in full OFF posi-
tion before proceeding with switch installation.

1. Install GMFJ060C012 switch on GMX31 BASE
PLATE (A) using the included hardware.

2. Install the OPERATING LEVER (8) into the
switch rotary mechanism from underneath the
BASE PLATE. Fully insert the operating lever and
orient as shown above. Tightening the two set
screws at the top of the switch using a small flat
blade screwdriver to retain the OPERATING LEVER.
Torque: 9 Ib.in.

3. Install the free end of the cable into the PIVOT
POST (C) and install the cable housing into the
open slut on the BASE PLATE, tighten the two lock
nuts on the cable housing. Note: the two lock nuts
should be centered on the threaded portion of th
ecable housing to allow for later adjustment.

____electric

Install cable bearing in
outer mounting hole

Switch in
OFF position

(@]

Note:

Locknuts centered on threaded
portion of cable housing.

Use two 11/16" open end wrenches.

4. Install the cable hardware as shown above and
tighen onto the PIVOT POST. Make certain that
both the flange handle and the switch are in the full
OFF position.

5. Operate the switch ON and OFF several times.
If adjustment is required, loosen the two lock nuts
on the cable housing and adjust their positions to
alter the cable travel. Use two 11/16” open end
wrences to adjust and tighten the lock nuts.

1/4" hrdwr
5.00
| | 6.30
9.88 | |
1.73
i T
2.46 |
6.18




GMX32
Flange Operated Switch Mechanism Kit
for use witch switches GMFJ060C03, GMFJ100C03, GMFJ200C03

GMFJ200C03 -
Install cable bearing in
®\ " \ Al Al outer mounti\ng\hole
‘ \

Il 5
3 |

(BN

Assembly Procedure Note:
Before installing switch, install handle and cable Locknuts centered on threaded

: portion of cable housing.
together in the enclosure flange cut-out. See pages Use two 11/16" open end wrenches.
4 & 5 of this document for assembly and instal-
lation instructions. Place handle in full OFF posi-

tion before proceeding with switch installation.

1. Install GMFJ060C03, GMFJ100C03 or GM-
FJ200C03 switch UPSIDE DOWN on GMX32
BASE PLATE (A) using the included hardware.

2. Install the OPERATING LEVER (8) into the
switch rotary mechanism from underneath the

BASE PLATE. Fully insert the operating lever and 1/4" hrdwr
orient as shown above. Tightening the two set
screws at the top of the switch using a small flat 6.22

blade screwdriver to retain the OPERATING LEVER.

Torque: 9 Ib.in. y _Uq—

3. Install the free end of the cable into the PIVOT

POST (C) and install the cable housing into the ‘ ‘
open slut on the BASE PLATE, tighten the two lock
nuts on the cable housing. Note: the two lock nuts ‘ ‘ 7
should be centered on the threaded portion of the
cable housing to allow for later adjustment. ‘ ‘

4. Install the cable hardware as shown above and
tighen onto the PIVOT POST. Make certain that A
both the flange handle and the switch are in the full ~

OFF position.

5. Operate the switch ON and OFF several times.
If adjustment is required, loosen the two lock nuts
on the cable housing and adjust their positions to
alter the cable travel. Use two 11/16” open end
wrences to adjust and tighten the lock nuts.

7.72 .

8 slectric



